
HSSLiVE.IN HSSLiVE.IN HSSL|VE.IN HSSLiVE.IN HSSLiVE.IN

HIGHER SECONDARY

FIRST TERMINAL SECOI\D YEAR EXAMINATION 2018.19

HSEII
GEOGRAPHY

Maximum: 60 Scores
Time: 2hours

Cool offtime : 15 minutes

(Answer all questions from I to 7, Each carries
l score) Qxl=l)
1. Which school ofthought in geography ernploys

Marxian thoughts to e4plain smial problems?

2. Name the popular geographical approach in
1990's

3. \\hichamongthefollorvmgmethods isadopted
to calculate population dursity in India?

(a) femalepopulation x 1000
malepopulation

b) male population
fbmalepopulation 

x looo

c) female population
malepopulation x loo

d) male population
femalepopul-tion x loo

(r o;oroE 7 cuoo d{t}Hc crrco}ernotaolo gor0rooo!9l

or;a. accoccrn'lolo ao] cdcacd)

1 oDcolo-()5C.!lco'coeonog ofl <roa'lao'laeicoE
ocddm>'lcooE ."Jlcrora gA goracocolaergcm
e;o1<occn5praJlcorcoco o6aile

rseo- egloer [.,rcn:'lraoacco eloltncm]1or
o-ilcrorc<.ucocogos Gc,roo 9;<ol]6.

4Jloros aat<d <0o153 ggocolafi ggctol5col<t$

ml lol'lot] olcfrc (rrJoJ c (o o 6 6IDdOcaeiC OE

porecocolaei3cmcf 
"6oY o'lor'lcocenlg.

(o6) mSCor'l emm:oatJ x 1000
oJj@]osJ PmfiDoa+

(enil) cruol"si ecD(ruoo+ x 1000
cniUor'l saff)m)odlJ

(ru1) mifo'l emm>oo+ x 100
olJo]osi stmfiDoa+

(cttr) o4olcsj emm)ooJJ x 100
cniUol sBCDm)ooJJ

Gode No 27

" loi o.r]oao rs olcril$ 'a1<,rE oc.,-d ooso' penaccololao]o.
corca5arrr<6 

"-ro1-o-roiogsc(r)]o 
p(o6.)@euncr0 <mgm:]Lalr6rDo o.oJg}cm]o: ,cL oJJoGo ls ojl(nlg 'al(rd 63colj ooso' P6lBc@lOldolo.

corca5arr:(rE 
"-ro1-o-rologsc(r)]o 

p(o6.)@euncr0 <mgm:]Lall6rDo o.oJg}cm]o

. crjl<dcgcroeo:oE o;u;ood 6neocor;<Ecgo orce)'16o6'mo.. poro)oeoBua 
"gesorJcmcoilcrI 

oJmi eorca5ecn(6 6orelc"r;6qo orc(oil6o6IDo.. 6)6rDad^q15et3acrE, .oJllroreBB<J0, g<lc"oJa,oa 
"gyrrflo 

pooroc.'tgciloS <orocm
peneccoilolaoemo.

. G-dJCBJ6UBUa oercorcg<oroier}o mo8a1cofllend.. GrooJ@Jole.e m>nerrod ffDoolcaJ@Bcr0 oacs;aeremo.. eL.Lrclocor;eoE o,.JgtccDcocrorol acoSco;eergo;aoE eluloacor;gg eio; gqetdetscerrjld
QoJ6@6IDCXJo oJ{0"l6r9iCoI)Cg l{od PolGaoc{l) ldOJolCoA olcslB.

General Instmctions to Candidates :

. There is a'Cool offtime' of 15 minutes in additiontothe writingtime.. Use the 'Cool offtime' to getfamiliarwith questions andto plan your answers,. Readthe instructions carefully. Read questions carefullybefore answering. Calculations, figures and graphs should be shown in the answer sheet itself.. \{alavalam version ofthe questiors is also provided.. Give equatiors uherever nece{isary.. Electronic devices except non-progrannnable calculators e not allowed inthe examination
Ilall.
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4. Name the oldest approachto calculate human
development

5. Which among the following is an example for a
medievaltown?

a- Madrai b. Jaiptr

c. Kolkata d. \aranasi

6 . The rvorking age group is . . .. . . .. . .

,t omJogd50flaffDCDo 66rDdOC66.);cmOiCti
p"-lccorccr)laoJcm oglQollo "lqeo m-la-l"lcDo o{JoY?

5. eJJoros cor6orrr'l 5lgpocoflo8 acDJocel
.r 5em oroilm;oc "oo am ca ci t

o{) ECD;(? enLl *:o);;6

cru'l oacotoer<rro cu-;l otco;momrl

6. ococq]etcgil i"-tccoojlcs/J)o o{JoY?

a.18-55

c.25-60

b.15-59

d 18-59

a.18-55

c. 25-60

b.15-59

d 18-59

7 . -{large area ofurban der-elopment resulturg horn
merging of adi acart to\\ns or cities is tenrred as

a. \{illioncin' b \Iegalopolis

c. Conurbation d. \Ietrocitr' (.7s1:7)

6 (6ns;o6);etr ol56rD@BoE@Jo (n(J)@@BoE(a)jo

a; 91 eg r6<oxllo 6 c 5ytel g.E otlmi ror5 <oocco;

cncoooilomx-leoa-i erorceni-....-. -,-.

;nr.l oar:cer:c,.-.r: s'r,\

rn:1 oacemdceruceioO nu1. oocgscmigl

-\ECTIO.\- B

(.{nswer an1-6 from questions 8-15 Each
carries 2 Scores)

8 Prepare a note on environmental detennirusrn

9 . Give a briefnote on Crude Birth Rate

10. Define flreterm literao, in Indian context.

1 1. \\hat is humitn po\-ef\i inder?

12. What do \,ou meuul bl'push fa'ctors of
migration?

13. Write the main areas where the Christian
population of India are concentrated

14. Write a note on the Dravidan language familyr

15. Distinguish betwean main rvorkers and

Marginal Workers.

(a l,:l.ri ro :)ltl crl).r5;mg1 i "-t-];rlalel:: o

!l,Hfllri !)l)),).ns:):a,. :-]lGl)m1 n;r 2

rt card)

a,rJcol otnloileoLlctlojluoJcffDo6'to6o;cn{ oo;
aScilogo;ror;4,

e lagcu-Y emcncriload oilcoaacao;a.
1o pqoo)JoA cfDS.rooloJorolot mJcasio(')o(or

in1dq.-Ieet;a

11 
"oOOrCard 

Orrn;rU5acO1re1 m;;o-Ial
12. a;slccogoroflos cril6ozm-ulo "ersoeuBua

oocrD6,Jo6cerrd nno6crroocaei;anocloc{ ?

13. pgoolScoioS i.a1mior5c0 BcDar) a;6xJocaojo
calcnlaolgflg;C.p Lorce@eanc,? ogoorgcot

14. lacoflcu: ccosiceJsJoauoororao;o19j noJ
a;o1ogu;<o;o

15. Lor(J) C m OAIC U1 a C916 glo cD 3 AO C L(')

oolcvlercgila CJo oaojle;;Ep oJoJcmroocrd ?

SECTION-C

(Answer any six from Questions 16-24.

Each carries3 scores) (6x3=18)

Classi$r Indian towns as per the standards of
Urban historiars and give examples.

(ro o;rorrut 24 iloo c"tco5congloE o6oroulet;o o

rotegqoro,l m; rororoo d{)e; o): a,. a c coc crnl rn; o a mica, c 6

ortoo)

16. mcooorc11olac@cEc@Jos ocmBfirLDloJdrc(oo

Ego?',J(ra oJS6m6EBoE o)ooaD'lo1gi

PBcooo 6ID6EBog 9Jcol]6l.
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Write about the 4 streams ofmigration in India.

8. Give a brief account of the expanding and

de clining populati on pS,rarnids r.vith suitabi e

examples.

9 Cornpare the Income approach and Basic neetls

ippro r.h t o l.uunan developtuetrt,

Distinguish between Wet point and Dry,point

setlernents.

1 . Briefly explainthe dernographic transition model

What are the aims ofthe National Youth policy
2003?

Explain the approach in geography which is

popularlyknouat as'stop and go determinism'

4. \[/hat did Thomas ]vlalthus predicted on

population grou1h?

17. pqcoi5colotet +o)oo d:slcogl(Jtlteorl6sBog
d6,lc,l+j ooejCI)Jd

tB oilarruila.olcmcrJo aJoaot3tTniDlc:3rTu

B CDCTDo 6!J'lo;o s ofl oafl oo;"r, o g

Gro CO j G'rD' 3 B J n C A, g B 3,1r} O oTf) 668 ud O.i) (}o1 CJ) o

crilrror:o:c+ro;a.

10. acn;,rsltr ojla ffDCDo 6, 6iT!cot, c,eo; cm or1 cn; gp
.x o ;a3m m]o"lorn--scrc)(olc r6E slcuoc,:n

c'o :u.o J rD ai n-l o-l o,oro .c, ; c I) ! au o) ai 3'r) d I ; d

20. oor$ c"-rccolo$" otcor:cruoe.t.;6ngio

oolor:co:oofl cr$" orem><runFi6Engjo alonlelSgp

orJ(')Jcm)ooe;o)J6

21 BCDO-do6UJ5 .-tO'lOl6<OtO"lCrr OC(.T)[&

o.ilcoaocaer;4.

22. 2003 -og cacro'ltz rrzrlcx*mcDtz,orojloo!

o]ollJ eldascJsonut "6oco]co6o?

23 GSBcd orgo$" coc cuflqdo'lcrilcruo' "6mi
soJso)lGo Gacilco'ool5;tm e;a1co.:m51o.'t

-ilotlcrirco,:ril:-oeaoeolo.

il !!^-1lr--:.11 -- :--?. .i--'c'-til'nuL.lj4';r-:r:ati

acd om;mi ;"-lo".l'l4ocirrroi t

Section D

Answer any 3

ch carries 4

from questions 25 to 28.

Scores) 3x4 =12

(zs alo-rol 28 er0)11 Grj3nj6oBgl('3 rSlstorto'ltltlo 3

n61 qpomlnri omr ob) rs j oli d),, a nc,ll rrnl nlJ I .l ou'c ainc.d ll oro)

2s. ia mlosr5 oil o m.l m,orril d,'-l rdott eiaco;cm mc ei
(i,);6ml6 g;os Goloo e;ol;a. 

"43o<ormlel;c
oo6IE%Ro ojk eeol:eo;ar,

26 pool5toioa oi'lojlcDooo L (n 3 cl'l sm ol c cro

(runpr6rBlrc ellrq 6)o19;6 "{1oala',1 
el;o

o o6TrB6IQo oiloOl+ro;.rr

27 Cr) (J) O Ol C AD (n)n el 6dl3 E: O S 1,ri 0A' rD S613 C'a

o{)ejfrry6

28. p eot5 coi o a,rJ S6rD 6613 o g o'oo mrl d q'"rt1 da;m)
orrd anoojlocri on slmtn c,:tlCIotlro8 roo c cl'r'io1,g

og3 o ror u1 el;o o-r crnlo cilao; o'l al oilr-ns ocdola,

5 . \ ame dre fbur pillan oflrutnirn development

and esplain anvttvo.

Li st the dflerent trpes of rural seltieuretrt s irt

India Erplainmr hro.

7 . Write the problems ofurban setternents.

Write the functional classification oftowns in

India and explain any one.
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(r\nswer any 1 frorn questions 29 to 30 Carries

6 Scores) 1x6=6

29. Explainthe phases ofpopulation growth in

India.

30. E rplam the pattems ofrural settlemenls ofthe
ri orld on the basis ofther fbmrs or shapes.

(zs - 30 olilo cace5eangloi oooargomlrri
potol@oore;ro.l;4,, o crdca,rd)

29. Eqcr?DJcorloer BcDm)o6!lJc olg<694co3os
oiloilcuoer So-ascr3 oilotoleo]a,

30 celceoro'lo el i,oc,a1;rnolccrum)nel58Bog
Graol,o,;os oT ga5cileom;nuo1gi ooool1o13i
oiloolao;a

31 Iciotrll and mak the follou ing on the outLne

nrap o1'hrdia pror ided.

a. ,{rl ancienttoun in South India

b. The state u ith highest score ur hlulur
der elopttteut irr India.

c. The state n ith highest poprtlation tr hrdia

d. The state nith highest cotrcentration of sikh

population inlndia.

e. The State rviththe highest urban
population.

(5s1 :5)

Section F

iJl:)ro s ntf a1'o15;gpol o1o14o1eioro"
mr-i a1 o1 5;gg eqoo>Jco;o s o;"-l co o-lcoio8

3Iesa,raodsJor,r;6

-e' :asr-le;rncor5coloa n@J .JJ@cocrrol5srDo

ril romrlloi)oet "4Qol;o 
pcodcm omJosJJ

ejlo fr-l nA:gI ruoq un3mo

Iil o6qo;ocr-flao ET)'ruoaJJo,;eC po.oJflE
(T))offDof a)o

ol, po-or5o,1af "g3qo;ao1ao 
m-ied

oor oilcorcmrl 6 gl g-g fiD o cun ccDo

cq "41qor;aorlao ffxroP(DffuoalJeo'JgE
pfi?r,Jod crDocruitr)o
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